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June 17th

5-a-day

Numeracy

probability is certain.

Give an event where you think the

‘onuj R NU‘L-/ ‘155
thom T g~ & b

Write in digits, the number

seven million

1900000

The expression in each block is
found by adding the two blocks
directly beneath it.

Find the missing expressions.

A
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Simplify Simplify 1
IS b

5x7w 2w X 3w

Work out the cube of 4 Work out the square of 18

1gx1g =324
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Foundation

How many smaller rectangles would fit
into the larger rectangle?

‘{ill,: ’:1,_7:

Find the lowest common multiple of
15and 6

‘\sl‘l@ 'W@

30

James throws a biased coin.
The probability of a head is 0.21

What is the probability of a tail?

The coin is flipped 200 times.

How many times is it expected to land on
heads?

o-3l x100
-y

A square has area 49cm?

What is the perimeter?

L )F Wem

Which is larger?

2°or 52
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Higher

Work out as a decimal

232
82 -171

Write down your entire calculator
display.

0-4\51 001 54|

Round the answer to 2 significant
figures.

Solve: ll-'!""
x+3y=1

X - 7 "b
i

Calculate the area of the triangle.

/.LxL\(H*l SwilY

29 .4Fcm®

@CORBETTMATHS © 2014




